Clubs for Spring 2025

Clubs will commence on 13th January and finish on 28th March.

Clubs will be allocated on a first come first served basis and can be booked through your MCAS account. The clubs have been set to open for booking on Monday 2nd December at 18:30 and will close on Wednesday 8th January at 10:00 am, if you would like to book on after this date please contact the office. The clubs can be located under the club tab in your MCAS account. You will need to select the available clubs option to see all available clubs for your child. If you experience any difficulties booking, please speak to Vicky in the office and she will be happy to assist you.

If a club member is not attending a session, then the office must be informed. Collection after clubs is from the front of the school. Children will not be allowed to leave unaccompanied, unless they are in either Year 5 or Year 6 and has been given permission to walk home at 16:20.

	Time	Club	Venue	Change/meet	Membership	Leader	Cost
Monday	3.20-4.20	Goblin Car Club	Otters	Library	Yrs 6 Max 12	Current Members Only No Session on 24 Feb due to the inset day	£3.00 x 9 Session Total: £27.00
	3.20-4.20	Nature Based Crafts Club	Key stage 1 break out area	Library	Yrs 1-6 Max 10	Laura's Explorers No Session on 24 Feb due to the inset day	£4.50 x 9 Sessions Total: £40.50
	3.20-4.20	Basketball Club	Hall	Library	Yrs 3- 6 Max 20	Miss Martin No Session on 24 Feb due to the inset day	£3.00 x 9 Session Total: £27.00
	3.20-4.20	Free Style Music with Marco Club	Music Room	Library	Yrs 3-6 Max 20	Marco Frankland No Session on 24 Feb due to the inset day	£4.00 x 9 Session Total: £36.00
Tuesday	3:20 - 4:20	Multi Sports	Outside/Hall	Library	Yrs 3-6 Max 20	Aspire	£3.00 x 10 Session Total: £30.00
Τue	3.20-4.20	Rother Valley Dance Performance Club	Music Room	Library	Yrs 5-6 Max 15	Mrs Stevens	£3.00 x 10 Session Total: £30.00
Wednesday	7.45-8.45	Southern Karate	Main Hall	Library	Yrs 1-6	Not a school run club but held in our hall. See flyer for information	£6 per session pay as you. Paid direct to company
	3.20-4.20	Netball Club	Outside/Hall	Library	Yrs 3-6 Max 20	Aspire	£3.00 x 10 Session Total: £30.00
	3.20-4.20	Kids With Bricks Club	Conference Rom	Library	Yrs 1-6 Max 20	Mr Trahern	£3.50 x 10 Session Total: £35.00
	3.20-4.20	Boardgames Club	Badgers	Library	Yrs 1-6 Max 20	Miss Martin	£3.00 x 10 Session Total: £30.00
Thursday	8:00 - 8:40	Morning Cross Country Club	Outside	Library	Yrs 3-6 Max 25	Mrs Jenkins and Mr Fiford	£3.00 x 10 Session Total: £30.00
	3.20-4.20	Times Table Rock Stars	Rabbits	Library	Yrs 3-4 Max 20	Miss Daley No Session on 6 th Feb due to the Parents Evening	£3.00 x 9 Session Total: £27.00
	3.20-4.20	Gymnastics Club	Outside/Hall	Library	Yrs 1-2 Max 20	Aspire	£3.00 x 10 Session

						Total: £30.00
3:20 - 4:20	Film Making Club	Year 6 Classroom	Library	Yrs 3-6 Max 20	Picture Train (For this club to go ahead we need a minimum of 15 children to sign up and pay by Thursday 19th December)	Thursday 9 th January, concluding on Thursday 13 th February £6.17 x 6 Total: £37.00
3.20-4.20	Street Dance Nation	Music Room	Library	Yrs 3-6 Max 20	Street Dance Nation	Starting after the half term holiday (Thursday 27 th Feb) £3.00 x 5 Session Total: £15.00

Session Times:

Breakfast Session: £4.25 8am – start of school day Session 1: £5.50 End of school day – 4.20pm Session 2: £5.50 4.20pm – 5.30pm Session 3: £11:00 End of school day – 5.30pm

Provision

Nraparound

At Wraparound, we pride ourselves on being able to offer a safe and happy environment for the children in our care.



We like to provide our children with activities that encourage them to play together and keep them stimulated. These include: Lego, a variety of board games, puzzles, colouring and a range of arts and crafts. When possible, we enjoy getting active either outside on the



We offer a selection of breakfast and snack options. Fresh fruit, water and sugar-free drinks are always available.

Bookings can be made, up to the day before, via the 'Teacher2Parents' app.

For more information, or to notify of any changes or updates on the day, please contact Donna Laycock directly by:

Email: wraparound@easebourne.w-sussex.sch.uk Mobile: 07399 058781



